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: PART—A
GENERAL ABILITY AND

Six boys A, B, C, D, E and F play a game 5.
of cards. Each has a pack of 10 cards.
F borrows 2 cards from A and gives away
-5 to C who in turn gives 3 to B while B
gives 6 to D who passes on 1 to E. Then
the number of cards possessed by D and
E is equal to number of cards possessed
by : o

(a) A,Band C

(b) B,Cand F

(c) A,BandF

@ A, Cand F

What is ‘X* in the following table ?
201916
217114
1014 [ X

(a) 8

(b) 9

(c) 10
(d 11
In the series 2, 3, 6, 18, 108, X w
‘X’ equal to ? :
(a) 1234
(b) 354

(c) 2036
(d) 1944

Consider the followi

@

/s
4
‘\S‘

wnXia e ooaull

7]

. What is ‘X’ in the above figure ?
(a) 86 —

(b) 83

(c) 82

(d) 26

»ho

INTELLIGENCE

There are five houses A, B, C,D,Ein a
row. A is on the right side of B and left
side of C. E is on the right side of A, B
is on right side of D. Which house is in
the middle ?

(@ C

(b) A

(¢) B

(d) D

Ram is facing st. He turns in
clockwise di y 90° and travels

80 m straighththeh he turns 180° in the

anticlo@ direction and travels
+n straight and then another 90° in

: @ kwise direction and travels 60 m

aight. In which direction is he facing

ow and at how much distance from his

starting point ?

(a) South-West and at 100 m

(b} South-East and at 100 m

(c) South-West and at 120417 m
(d) North-West and at 120417 m

In the series 52, 61, 97, 118, 166, 193 which
term does nof belong to the series ?

(a) 97
(b) 166
(c) 52
(d) 118

How many of the 2-digit numbers, that
can be formed by using the digits 1, 2,
3, , 9 without repeating any digit,
are divisible by 4 ?

(a) 36

(b) 20

(c) 16

(d) None of the above

........
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10.

1l

12.

Out of three married couples, 2 are doctors, 13, All six faces of a cube are painted in the

2 are engineers and 2 are lawyers. They same colour. The cube is cut up into
are Mr. and Mrs. Singh, Mr. and 27 equal cubes by slicing parallel to the
Mrs. Rajan, Mr. and Mrs. Nayak. Husband faces. Which-of the following statements

and wife have different professions. No
woman is an engineer. Mr. Rajan is a
lawyer. Which of the following statements
is/are correct ?

is mot correct about the small cubes ?

(2) There is at least one with no painted -
face

{. Mrs. Rajan is a doctor | (b) There is none with morethan 3 painted
2. Mrs. Nayak and Mrs. Singh have the faces o
same profession (c) There are 8 with exactly two painted
. Select the correct answer using the code - faces -

given below : (d) There are with only one

-(a) 1 only | : painte
(b) 2 only 14, Which thd following figures is
(c) Both 1 and 2 . at; for the sets ‘herbivore’,

(d) Neither 1 nor 2 and ‘ domestlc’ 9

‘Gopal bought a cell phone and sold it to

Ram at 10% profit. Then Ram wanted to 6

sell it back to Gopal at 10% loss.
will be Gopal’s position if he agreed@

(@) Gain 1%
(b) Neither loss nor gain \

(¢) Gain 2% .
(d) Loss 1%

If 2 boys and 2 gi to be arranged in |

a row.so that are not next to .
each oth ow many possible @ @Z@
arrangem ¢ there ? :
(2) 6 - | . .

_ 15. A selection test consists of two parts, A
®) 12 . . and B. 75% of the candidates cleared
() 24 part A and 60% cleared part B. 20% failed

- (d) None of the above _ to clear eithér. What is the percentage of

candidates who cleared one of the parts

A t the followi hich i
mongst the following years, which is but failed to clear the other 7

the odd one out ?

. (a) 25%
a) 2000
Eb; 2040 (b) 0%
2080 (o) 2%
?:l)) 5100 (d) More information is needed

a4
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16.

17.

- 18.

16.

20.

Three places A, B and C form an equilateral
triangle with side 60 km. A man drives
from A to B at 20 km/hr, then from B to

. C at 30 km/hr and finally from C to A at

15 km/hr. What is his average speed for
the whole trip ?

(a) 20 km/hr
(b) 24 km/hr
(c) 21% km/hr
(d) 25 km/hr

ATV set costs twice as much as a washing
machine, which costs twice as much as a
mobile phone. Radha bought 2 mobile
phones, a washing machine and a TV set.
Meera bought a mobile phone, a washing
machine and 2 TV sets. If Meera’s bill
was Rs. 18,000 more than Radha’s bill,

which of the following statements is nof
correct ?

(a) Washing machine costs Rs. 12,000

(b) TV set and mobile phone together
cost Rs. 30,000 ‘
()

TV set costs Rs. 20,000 more than
washing machine
(d)

TV set costs Rs. 18,000 more tha
mobile phone -

Which is the odd one out ? \
(a) 361 TS
(b) 289 ‘

(c) 225

(d) 196

Which is the
(a) ZAYB

(b) WFVEU
(c) TGSHR
(d) UFTGS

‘A’ has twice as much money as ‘B’, who
has 50 rupees more than ‘C’, If ‘A’ has
200 rupees more than ‘C’, then which
one of the following statements is not
correct 7 '

(a) A, B and C have a total of Rs. 550
(b) A and B have a total of Rs. 450
(c) B has Rs. 100 less than A

ne out ?

(d) B and C have a total of Rs. 250

- 21. 3 oranges and 4 bananas cost Rs. 36, and
for Rs. 5 more you can get 4 oranges and
3 bananas. How much do 5 oranges and
5 bananas cost ?

(a) Rs. 55

{b) Rs. 60

(c) Rs. 54

(d) Rs. 56

22. 6 men and S women can complete a task
in 3 days. If a man can do it in 36 days,
how long will a woman, take to do it ?

(a) 42 days
(b) 30 days
(¢) 36 days O
(d) 35 day
23. What is t@ digit of the number
2 |

@.Whicb one of the following numbers is

exactly divisible by 99 ?
(a) 42767
(b) 31781
(c) 21187
(d) 53658

- 25. Givenat+b+c+d=116,a:b=5:7,
b:c=3:5c:d=7:91fab,c,d
are whole numbers, what is the difference
between the largest number and the
smallest number ?

(a) 22
(v 31
(¢) 30
(d) 26

26. Sum of two different positive integers is
11 and the sum of their squares is 61.
What is the ratio of larger integer to the
smaller integer ?

(a) 3:2
(b) 6:5
() 5:2.
(dy 7:6

*
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17.

18.

19

20.
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22,

23,

2

25,

26.
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(a) 42767 .

(b} 31781

(c) 21187

(d) 53658
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27. A watermelon is cut into two pieces in
- the ratio 4 : 5 by weight. Then the larger
piece is cut into two pieces in the ratio
7 : 8 by weight. Out of three pieces what
is the ratio of the weight of the largest
~ piece to that of smallest piece ?
(a) 6:5
(b) 12:5
() 12:7
(d 8:3
The HCF and LCM of two positive integers

are 35-and 385 respectively. If one of the
integers is 77, what is the other integer ?

{a) 350
by 210
{c) 175
(d) None of the above

How many zeros appear at the right end
of the number 25 x 30 x 35 x 40 x 45 x
50 x 55 x 607
(a) 6
(by 4
©) 7
dy 5

Which one of the following is

from the rest three ? \&

(a) Cylinder

(b) Hemisphere ¢
(¢) Cone

(d) Sphere

The Miniature

28,

29,

30.

ed Aerial Vehicle
(MUAV) de specially for anti-
terrorist an ter insurgency operations
by Defence Research and Development
Organization (DRDO) which will be
available for the use in the field is :

(a) Jyoti
(b) Netra
(c) Chakshu
(dy Nayan

The bulk of iron in the human body is in :
(a) Bones
(b) Blood
(c) Teeth
(d) Liver

"31.

32,

* 00

- 34

&

33. EEG is an index of functioning of :

(a}) Heart

(b) Brain

(c} Liver

(d) Kidney

Indigo, available in India since ancient

times and used for colouring blue jeans,

isa:.

(a) Mineral paint

(b) Herbal paint

(c) Synthetic paint

(d) Metallic pain |

35. The chcmical(t mmonly used for
cloud seedi % the artificial rain is/
are :
(a) Silve@de

(b) erechloride
& er bromide
All of the above

ich one of the following sources is
the best source of monochromatic light ?

(a) A bulb

(b) A fluorescent tube
(¢) A sodium lamp

(d} A semiconductor laser

37. The only snake which builds a nest is :
(a) King Cobra

(b) Viper

(¢) Krait

(d) Python

Energy stored in a choke is in the form
of :

(a) Magnetic energy

(b) Heat energy

(¢) Electrical energy

(d) None of the above .

Which one among the following
radioactive substances has maximum half-
life period ?

(a) Carbon-14 ‘

(b) Plutonium-239

(c) Radium-226

(d) Uranium-238

38.

39.

(Contd.)
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40.

41.

42,

43.

44,

45.

46.

The stars when observed from the Earth 47.

appear to twinkle because :

(a) They do not emit the same intensity
of light continuously

(b)

The star-light is absorbed frequently
by their own atmosphere

()

(d)

The star-light is absorbed frequently
Which one of the following is a renewable
source of energy ?

(a) Natural gas
(b) Wind energy

(c) Nuclear energy
(d) Petroleum

in interstellar space 48.

None of the above

The gas which is released from landfills 49
and dumpsites in urban areas is ! :

(a) Oxygen

(b) Methane

{¢) Nitrogén

(d) Carbon dioxide

The compound used as a preservative in

fruit juices 1s ;
(a) Sodium acetate
(b) Sodium benzoate

(¢) Formic acid \:

(d) Sodium salicylate .

Which one of the fol
not caused by virus,?

(a) Dengue
(b)  Influenza
(¢) Measles
(d) Scabies

The time taken by light to travel from
Sun to Earth is approximately :

food products such as tomato ketchup mb@ (

seases is

(a) 8 hours. ‘ 51.

{b) 8 minutes
(c) 8 seconds
(d) 16 seconds

Which one of the following States is well
known as a major salt producer ?

(a) Andhra Pradesh
(b) Karnataka

(¢) Gujarat

(d) Odisha

50.

Amoﬁg the following pairs of States which
have good capacity to produce iron ore ?

(a) Bihar and West Bengal
(b) Goa and Karnataka
(¢) Gujarat and Rajasthan
(d) Punjab and Haryana

Recently which one among the following
broke up into two separate and independent
countries, but soon fell into war with each
other ?

(a) Angola
(b) Nigeria
{c) Sudan

(d) Tanzania

. Which ong of the following National

Highways s through Central India
fro hato South ?
(
HS5
NH 6
) NH7 .

Consider the following pairs :
1. Loktak National Park - Manipur

2. Namdhapa National - Meghalaya
Park
3. Valley of Flowers - Sikkim

National Park

Which of the pairs given above is/are
correctly matched ?

(a) 1 only

(b) 2 and 3 only
(¢) 1 and 3 only
(dy 1,2 and 3.

Consider the following places :
1. Bhimbetka

. 2. Badami

3. Khajuraho _

At which of the above places are pre-
historic cave paintings found ?

(a) 1 only
(b) 2 and 3 only
(c) 1 and 3 only

(d 1,2and3
‘ (Contd.)
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52.

53.

54.

55.

56.

In which of the following States are the
famous ‘Living Root Bridges’ found ?
(a) Arunachal Pradesh

(b) Himachal Pradesh

(¢) Kerala

(d) Meghalaya

Consider the following pairs :
1. Rumtek monastery - Sikkim

2. Tabo monastery - Arunachal
' Pradesh

3. Tawang monastery - Himachal
Pradesh

Which of the pairs given above is/are
correctly matched ?

(a) 1 only

(b) - 2 and 3 only
(¢) 1 and 3 only
(d) 1,2 and3

Consider the following rivers :

- 1.  Sankosh

2.  Amochu
3. Subarnarekha
4. Jia Bhorelli

(a) 1,2 and 3

(b) 1 only \
(¢) 2,3 and 4
(d) 1,2 and 4 ¢

Which one of the following,is India’s first
indigenously buj uclear-powered
submarine ?

(a) INS Arjhant

{(b) INS_Si tna
(c) INS a
(d) INS Shankush

Consider the following pairs :

Saint Philosophy/School
. of thought
1. Nagarjuna Shunyavada
2. Ramanuja Aneckantavada
'3, Shankaracharya Advaita

Which of the above pairs is/are correctly

matched ?

(a) 1 only

(b) 2 and 3 only
(¢) 1 and 3 only
(d) 1,2 and 3

o

Which of the above is/are tribut
tributaries to Brahmaputra ?

57. The “Polavaram Project”, a multi-purpose
interstate irrigation project, often in news,
is on river : :

(a) Cauvery
(b) Godavari
(¢) Krishna
(d) Mahanadi

Sometimes, Mc Mahon line is mentioned
in the context of relations between India
and : :

(a) Bangladesh
(b) China
(c) Myanmar
(d) Nepal

In the ¢ defence equipment/
system, @re MANPADs ?

(a) Sho “launched surface-to-air

issiles :
a-red based night vision devices
nmanned aircraft

) Nuclear powered submarines

We often find the term ‘Goldilocks Zone’

in news. It is mentioned in the context
of : '

(a) . The identification of earth-like planets
in the universe
(b)

The use of wireless short distance
(©)

58.

59.

communication :

Minimum distance required between
Earth and any artificial satellite
revolving around it

None of the above

(d)
The
(a)
(b)

(c)
(d)

61. Parliament of India consists of :
Lok Sabha and Rajya Sabha only

Lok Sabha and Rajya Sabha and
Planning Commission

The President of India, Lok Sabha
"and Rajya Sabha

The Cabinet Secretariat, Lok Sabha
and Rajya Sabha

The Judges of a High Court of a State in
India are appointed by : :

(a) The President of India

(b) The Chief Justice of India

(c) The Governor of the State

(d) The Law Commission

62.
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63.

64.

65.

66.

67.

The Planning Commission is headed by :
(a) The President of India

(b) The Prime Minister of India

(¢) Union Finance Minister

(d) Any Minister nominated by the Prime
Minister

Consider the following statements :

1. The Panchayati Raj is a four-tier
system of administration.

2. Under the Panchayati Raj System,
Panchayat Samiti is the first-tier of
administration.

Which of the above statements is/are
correct ?

(@) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

Who of the following is the Chairman of
the Fourteenth Finance Commission ?

{a) C Rangarajan

(b) Duvvuri Subba Rao
{c) Vijay Kelkar

(d) Y V Reddy

Consider the following :

3. Right to education .

As per the Constituti ia, which
of the above is/are fi tal rights ?

Which of the following is/are the
Constitutional Bodies in India ?

1. Central Information Commission
2. Election Commission

3.  Reserve Bank of India

4.  University Grants Commission

Select the correct answer using the code
given below :

(a) 1,2 and 3
(b) 2 only

(¢) 3 and 4 only
(d) 2,3 and 4

1. Right to freedom of speech a
expression 1.
/2. Right to property \

68. The term ‘Repo Rate’ sometimes found
in news is related to :

(a) Banking system

(b) Demographic trends
(c) Foreign trade

(d) Human fertility

Which of the following are the subjects
in the ‘Concurrent List’ under the Seventh
- Schedule of the Constitution of India ?

1. Citizenship

2. Economic and Social Planning

3. Trade Unions; Industrial and Labour
Disputes ,

Select the correct ans

given below :

(a) 1 and 2 @

69.

using the code

(b) 2 and 3

() 1an '
1, 2(and | -
eaafte of the Partition of Bengal,

adeshi and Boycott movement was
gd in different parts of India. Who
#tollowing is well known to have
his movement in Tamilnadu ?

C Rajagopalachari

(b) Chidambaram Pillai

(¢) E V Ramasami Naicker

(d) Sarojini Naidu

With reference to the period of Indian

freedom struggle, the term ‘Surat Split’
refers to the affairs of :

(a) Indian Naticnal Congress
(b) Muslim League

{(¢) Hindu Mahasabha

(d) Swaraj Party

70.

72. Who of the following founded the ‘All
India Village Industries Association’ ?
(a) Pherozshah Mehta
(b) Jyotiba Phule
(c) Mahatma Gandhi
(d) Vinoba Bhave

73. Who among the following put before the
British the facts and figures illustratin
systematic bleeding of the wealth an
resources of India as a result of British
rule, and pointed out the impact of this
drain in Indian economy ?
(a) Bhikaji Cama
(b) Dadabhai Naoroji
(c) Gopal Krishna Gokhale
(d) Mahadev Govind Ranade
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64.

- 65,

66.
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74.

76.

77.

78.

Consider the following pairs :

Freedom Fighter  Well known for

1. Annie Besant Home Rule Movement

2. Surendranath Sen  Non-Cooperation
Movement

3. Vinoba Bhave = Bhoodan Movement

Which of the pairs given above is/are
correctly matched ?

(a) 1 only

(b) 2 and 3 only
(¢) 1 and 3 only
(d) 1,2and3

PART—B
PROFESSIONAL SKILLS

‘A’ is an employer who deducts the
employee’s contribution from the wages
payable to the employee for crediting to
a Provident Fund or Family Pension Fund
established by the law. ‘A’ makes default
in the payment of such contribution to
the said Fund in violation of the said law.
A has : |

(a) committed the offence of theft
{b) committed no offence

(c) committed the offence of crimin
misappropriation of propert
(d) committed the offence of\' al

breach of trust

*
mpetent
the services

training ?7
(a) Comma f the Unit where the
- const sted

(b) DIG in-charge of Unit where
constable is posted

(¢) DIG of the Training Centre where

the constable is undergoing basic
training
(d) Any Gazetted Officer of CISF

A dying declaration :

(a) needs corroboration

(b) does not need corroboration

(¢) should be made to the police officer only
(d) should be made to the doctor

- (b) in which

75. During the Indian freedom struggle, a series

of meetings referred to as Round Table
Conference were held primarily to discuss
the :

(a) Grant of Independence

(b) Resolution of Religious Conflicts
(¢) Educational and Social Reforms
{d) Structure of judi’cial system

wing Sections deals

Ipt to wage war against
ent of India ?

on 161 of Indian Penal Code

cction 121 of Criminal Procedure
ode

) Section 121 of Indian Penal Code

04 Torturing a woman for dowry by her

husband or relative of her husband is an
offence under Section :

(a) 498 IPC
(b) 420 IPC
(c) 498 A IPC
(d) 452 IPC °

. A cognizable offence is one :

(a) in which police can arrest with a
warrant from the court

olice can arrest without a

warrant from the court

(c) in which police can arrest after takin%
erlr_mssmn from Superintendent o
olice

(d) in which police can arrest only after
taking permission from District
Magistrate -

82. Confession before bolice which leads to

recovery of case property :

(a) comes under Section 25 of the
Evidence Act ‘

(b) can be proved under Section 27 of
the Evidence Act

(¢) hastobeinthe presence'of a Magistrate
(d) is done on the orders of the senior
police officer

(Contd.)
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83.

84.

85.

- 86.

87.

88,

‘The Right

Sexual intercourse by a government
servant of a woman under his charge or
custody is a crime under :

(a) 354 IPC

(b) 509 IPC

(c) 376 1PC

“(d) 376 B IPC

Which one of the following pairs does

‘not match ?

(a) Statement before  Section 164 CrPC
a Magistrate

(b) Culpable homi- 304 A IPC
cide not amounting
to murder

(¢) Confession before  Section 25 Evidence
Police Act

(d) Employees State  Workers
Insurance

In a departmental enquiry, a defence
assistant i1s chosen :

(a) by the Department for defence
(b) by the charged official
(c) by the controlling officer from the

(d)

A thief is escaping with stolen

He has to be caught and stolen p y
recovered. What should b immediate
reaction of the CISF segn duty ?
(a) raise an alarm an ize pursuit
(b) shoot the thie

(c) inform the
(d) informt

] room
dant immediately

_ fBrivate Defence, subject to
certain restrictions, extends to :

(a) defence of self and any other person
(b) defence only of self

(c) defence of government agencies
(d) defence of one’s family members

‘Double Jeopardy® means :
(a) A person getting two punishments
for one offence

(b) A criminal act is covered under two
offences

(c) Second trial of the accused for the

same offence
(d) None of the above

three choices given by the charge
official
only on the order of DG

operty.

What is the prescribed strength of a Search
and Rescue (SAR) Team in a NDRF
Battalion ?

89.

-~ (a) 30
(b) ¥5
- {¢) p4
(d) Minimum 15
90. You 4re in-charge of a CISF Camp located
in a remote area which is infested with
Left Wing Extremists. To ensure proper

secunty of your camp which of the
Jer important 7

side the camp
e from barrack

dlear véBetationraround the camp that
gan offer cgver to attackers
P lec_ Reaction Team (QRT) in

ess to counter any eventuality

adrid Blast
ondon Blast

okyo incident
Akshardham attack

92.

island in the sea/lake from where
ater for reactors is drawn

n area where all gadgets are placed

93. Which|of the following Security equipment

is not ysed during pre-embarkation Security
Checks at airports ?

(a) XBIS
(b) UNVSS
(¢) DFMD
(dy HHMD
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94,

95.

96.

97.

During Election duties the force personnél
should be briefed on the following points.

1. Tasks assigned during Election duties.

2. Action to be taken in case of attack
on the polling booth.

3. Action required to be taken for filing
a report regarding the incident.
Select the correct answer using the code

given below :

(a) 1 only

(b) 2 and 3 only

(¢). 1 and 3 only

(d) 1,2 and 3

What are the duties of police personnel

deployed on Election duty ?

(a) Ensure that the voters form a line
and maintain peace inside the booth

| (b) Provide security to polling parties

(¢) Provide security to Electronic Voting
Machines

(d) All of the above

In which of the following ways do the
Naxal outfits attack the force ?

1. - By guerilla tactics.

2. By the use of IEDs and claym
mines to attack patrolling partie

3. By keeping women and children 1
the front during attack.
4. By floating informatio 1rN ce
about their likely movement,
Select the correct answer ‘using the code
given below :
(a) 1,2 and3
(b) 2and 4 o
(¢) 1,3 an
d) 1,2,

You are establishing an Observation Post
in your camp located in Left Wing
Extremist affected areas. In this context,
which one of the following is nef correct ?

(a) The Observation Post should be at a
dominant location.

(b) There should be proper communication
system at the Post.

(¢) The Observation Post should be well
lit inside.

(d) -There should be proper trenches, etc.
to reach reinforcement to the
Observation Post.

99. While returning '
Guard, which v@v
be ensureds?

98. You are deployed on duty in Naxalite

affected area. In this context which one

of the following is net correct 7

(a) When the patrolling party is returning,
all precautions against ambush should
be taken.

(b) Using the same vehicle for movement
of the troops is effective and safe.

(¢) Ambush is often done during the day
when police party is returning from
an operation or raid.

(d) Naxals are expert§tin planting IEDs.

to the Quarter
he following should

(a) Weapen should be oiled properly

(b) sapon should not be oiled o
C @ non should be cleaned
amber should be emptied and

loaded magazine taken out

What is/are the reasons for improper
handling of firearms ?

(a) Lack of proper training
(b) Lack of firing practice
(¢) Inadequate supervision
(d) All of the above

101, U/S 13 of the CISF Act, procedure for

arrest is given. In this context which one
of the following should not be done by a
CISF officer ? '

(a) Detain the arrested person till the
Managmg Director of the unit gives
permission

(b) Handover the arrested person to a
police officer without delay.

(c) If police officer is not present at the
spot, take the person to the nearest
police station.

-(d) Ensure that the arrested person is not

hurt by any one while taking h1m to
the police station.
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102.“A’ causes cattle to enter into a field
belonging to ‘Z’ intending to cause damage
to ‘Z’. ‘A’ has committed :

(a) the offence of mischief
(b) the offence of theft
(c) the offence of robbery

(d) the offence of criminal breach of trust

103. Which one of the following matters does

not fall within the jurisdiction of Industrial
Tribunals 7

(a) illegality or otherwise of a strike or
lockout

hours of work and rest intervals
leave with wages and holidays

retrenchment of workmen and closure
of establishment

(b
(©)
(d)

104. It is advisable to store important data in
which one of the following for it to be
secure ?

106. During election duty, which is the most
important precaution to be taken by the
CISF personnel to guard the weapons ?
(a) Keep the weapons safely with them

in the barrack ' | _
(b) Use rifle chains to secur¢ weapons
properly
(c) Give the weapons to the guard in-
‘ charge for keeping it safe
(d) Clean the weapons every day

~107. Which one of the following is the counter-

part of Bureau of CivilfAviation (BCAS)
in UK. ?

(a) Transport uthority (TSA)
(b) Departme ransport (DFT)

108. “Céoling off Pit” at an Airport is meant '

toring teargas éb.ells of CISF

. . . Armoury
@) In a computer with all secpnty features @ } Storing of dangerous goods
and an internet connection . .
by i d al {c) To keep all unclaimed baggage
(©) fn a stand alone computer _ (d) To keep baggage and other items
(c) in a computer securely loc suspected to contain explosives
roper access control i :
D o O ' 109. The fee reccived by CISF for Technical
. ¥ Consultancy Service to Industrial
(d) . in a computer usgd Ry~sgnior most Establishments is credited to :
officer of the or on (a) CISF Welfare Fund
105. During deplo Election duty. ~ (b) CISF Consultancy Fund

ensure that :

vassing within 100
metres ofSthe polling station.

2. polling agents of candidates do not
rrequest voters to vote properly within
100 metres from the polling station.

3. candidates are not present within 500
metres from the polling station.

Select the correct answer using the code
given below :

(a) 1 and 2 only
(b) 3 only

(¢} 1 and 3 only
(d) 1,2and 3 .

(c) Consolidated Fund of India
(d) Prime Minister’s Relief Fund

With reference to protecting Human Rights
of an individual during search, which one
of the following is mot correct ?
(a) Search operations should be done
preferably during the day
{b) Do not enter any premises
(c)

110.

unauthorizedly ,

If no witness is willing to come
forward, get the witness from
neighboring village immediately
Arrested person should be informed
about the cause of arrest

(d)
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112.

113

114.

Whoever does an act which renders or
which he knows to be likely to render
any public road, bridge, navigable river,
impassable or less safe for travelling or
conveying property, has committed the
offence of :

(a) criminal trespass

(b) -criminal breach of trust

(c) rioting

(d) mischief

For a government servant to marry second
time when the first wife is living and the

marriage is not dissolved, is punishable
under Section :

(a) 494 IPC

(b) S00 IPC

(¢} 502 IPC |
(d} None of the above

What is the meaning of the term ‘hacking’
in computer parlance ?

(a)

to show your skill/knowlcx
(b) peeping into the wor doxl by a

colleague behind hi

(c) typing a documen eone ¢lse’s
computer wh person is not
around

(d) none of ove

A member of the Force is suspended. In

this context, which one of the following
is not correct ?

(a) He ceases to be a member of the
force.
(b

He is subject to the same discipline
and penalties as other members

He has to attend all the parades and
games in the unit-lines

He has to continue living in the
barrack

(c)

(d)

finding loopholes in the sec r@
system of someone else’s compute

115.

116.

S

117.

118.

Under which of the following
circumstances the Director General of CISF
may, subject to confirmation by the Central
Govt., grant a higher rank than that held
by the officer as a *local rank” ?

(a) whenever the Director General desires
(b) whenever the MHA requests him
(c) based on the individual’s performance

(d) only in the interest of better
functioning of the force

An officer is granted a Jocal rank. In this
context, which one he following.
statements is corre

(a) He can ¢ lority over other
office force by virtue of
havir@ such a rank

> is ‘erfitled to extra pay and

(b) [ 1
@u ahces for the local rank he is
OTal ed .

e is entitled to only an honorarium
during the period
(d) He cannot claim any of the above

The unit commander has been asked by
the Director General, CISF to send force
for election duty. The Managing Director
of the Undertaking :

(a) should be informed as the force is
supposed to work under his general
supervision, direction and control
need not be informed as orders are
from Director General, CISF

may not be informed without
clearance from Election Commission
may be informed after orders of the
District Magistrate

(b)
(Y
@

The Commandant of the undertaking is
responsible for its security. For that purpose
he will keep in touch with the following
except @ .

(a) District Administration -

(b) Managing Director

(c¢) Union Leaders

(d) Local Police Station

(Contd.)




1S w1 et 0@ 6 #1 w2 & sl e
HSH, G, AF A W -0 A geRy

9aEd * fora smer o #w fyoug @er 2
W IFH AR B G AT g™ @Y,
I FGAY FIal & 7

(a) IOUits afgarx

(b) IMURFE =@ oW

(c) 94

(d) Rfte

et Tl FfErd & g vl welt &
Hfaw 21d frme faaw f=dr =@t gan @,
{aﬂﬁaﬁm%ﬁm%mﬁﬁ‘-ﬂw
a9
(a) 494 IPC
(b) 500 IPC
(c) 502 IPC
(@) ST ¥ & P T
113. §oF &) e § B
- g & 7
(a) T Hwed/wA gaifa
- ﬁﬁﬁm%wrasa?rg\

112,

A RBw ggm
(b) Ry wgeif qa'mﬁ
I fis B -HiF FAT
(c) Trel 3m WY, 99 98 ¥
TRY HAT

114. 99 % F¢ afda el s 21 =9

ged § frafoR & @ 9w w w8

TH 2 7

(a) 9% §9 % yoog T8 war B

(b) 9 39 wewdl A Wiy s Ak

| mia & M7 2

(c) I8 vt gfyz oA AN @t 7S
M /A ¥ gl &= 2

(d) 3 T X w9 w@ e

=+ 2

115. CISF & #eifiews, 87 axdR @ qRe
% 3 e gy, Freafafae oRRaRal & -
] e A Rl sferd &1 39 sfusr
g0 g 6 % vy F gftg T @
JeEat I&F YT FC ghal 2 7
(a) 9« N HEfdws AN =@ B
(b) & o} TE HAEE IEE ITAY
(c) =@ & v Tt smafa
(d) #3d 99 % dgax TEHO & By F

116, Bt sl =1 ey 1% R omar 2
39 godf o q W9 wYUq

G :
@mﬁ_%sﬂmwrﬁ

(a) 39
: T AT X aftssar &
GIEL 2
T wurtg & & o a8 afafaa
MT ST FT FHEX 8
38 I¥ A F A FaA WY B
forg seaqe 2
(d) 78 IuFm & frell &1 wrr A8 W%
el : -
117.CISF # w@gfiees 3 gfye saisc #
Prew Ror 2 & @@ Prafem sg2t & R
I AV | ITHH B HEIeEE @ .
(a)qﬁa%mwaﬁqﬁﬁuzm
2 & s g e PRw ok
P # s s 2
(b) hea FT wawms FE 2 wifs
CISF 3 mefyeos =1 smew &
(¢) Frafewr amm & frefaw fe B
Yo 7€ e o wewar :
(d) Fren w3 smel 3 o giw
fFar w1 @ B
118. ITFH 1 FHISe Iq G 3 forg Iweamdt
2! 39 yaiwd & fyu 39 Preafafed @
q9% @ yEwE g, REm
(a) Ry wama=
(b) S fews
(c) gHET & A
(d) wrfw gfom wRwe

(Contd.)



119,

- (d)

When making an arrest, members of the

force can do the following except :

(a) Touch or confine the body of the

person to be arrested

Seize the articles found on the arrested

person and keep it in the Quarter

Guard

(¢) Use necessary restraint if the person
tries to evade arrest

Hand him over to the nearest Police
Station without delay

(b)

120. A constable of the force is deployed for

operational duty for a short period outside

. the place of his permanent posting. During

121.

122.

this period he gets drunk and opens fire.
Which of the following is the best option
for the Commandant under whom he is
deployed ?

(a) confine him to the Quarter Guard

(b)

_of the constable

Which is nof a major tnder the

CISF rules ?

a lower time scale of
ost or service which will
be a bar to his promotion

reduction to a lower stage in the time
scale of pay for a period of not
exceeding 3 years without cumulative
effect

‘A’ has thrown acid on ‘B’. Then ‘A’ i
guilty under Section :

(a) 313 IPC
(b) 343 IPC
(c) 326 IPC
(d) 307 IPC

suspend him and refer the matter to
the concerned disciplinary authonty@

(c) recommend to CISF headqu e
suspend him
(d) return him to the parent E 125,

124, Which one o

'123. In which of the following cases can CISF

personnel arrest without warrant ?

(a) when a person causes hurt to another
person :

(b) when a person is hldmg in the
undertaking premises and there is
suspicion that he is doing so to
commit a cognizable crime

(c) when a person commits an offence
likely to cause danger to the life of
a person

(d) In all the a S

@ olfowing is not a duty
of Assistant Gormmandant ?
(a) He@!z responsible for efficiency,
isciplirie and morale of the personnel
ér him
shall be responsible for the
Security of the undertaking

(¢} He shall perform any duties entrusted

to him by his Commandant

(d) He will maintain contact with labour
leaders in-charge of employees’ union

Petty punishment under CISF rules can
be awarded to :

(a) Head constables
(b) Constables

(¢) Followers

{(d) All of the above -

126. Which of Ehe following is the best form

of perimeter security ?

(a) A perimeter wall with electric fence
and watch towers

A perimeter wall with Y-shaped
‘overhang and concertina coil but
without watch towers

(¢) A perimeter wall with complete
CCTV Surveillance but without
patrolling track

A perimeter wall with Y-shaped
overhang, concertina coil, watch
towers and patrolling track

(b)

(d)
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127. U/S 10 of the CISF Act, the duties of the 130. Retrenchment means :

‘members of the Force is/are : (a) Termination of the service of a
. to safeguard the interests of the workman on the ground of continued
Unions as the welfare of all the ill-health
employees is looked after by them. (b) Termination of the service of the

workman as a result of the non-
renewal of the contract between, the
cmploycr and the workman on its

2. to protect and safeguard the industrial
undertakings owned by the Central

Govt. expiry
3. to protect and safeguard the (c) Termination of the service of a
employees of the industrial workman by the employer for any
undertakings and installations. reason whatsocveg, otherwise than as
Select the correct answer using the code a punishment,in d by way of
given below : disciplinary.ach
(@) 1 only _ (d) Volunta @ ent of the workman
(b) 2 and 3 only 131. What is @s ribed height of Airport
(c) 1 and 3 only Perimeter ? ‘ :
(d) 1,2 and 3 | (a) et.wall with 1'2 feet concertina
128. An industrial dispute can be settled by : et wall with 1% feet concertina
1. Direct negotiation wire
2. Mediation or conciliation 6 ¢) 10 feet wall with no concertina wire
3. Arbitration (d) 10 feet wall with 1'% feet concertina

Which of the above are correct 132. A warrant for search of a document/parcel

4. Adjudication l O wire

(a) 2 and 3 only \ in custody of Pastal Authority may be
(b) 3 and 4 only . issued by
(c) 1,2 and 3 only . (a) Any Magistrate
(d 1,2,3 and 4 , (b) Investigating officer
. (c) Any police officer
125 When dealin sourers and (d) District Magistrate or Chief Judicial
:}rlt;]:llgy.ees undertaking Magistrate

1. win the confidence of the employees 133. Consider the following statements : ,
and labourers. Confession by accused to the police officer

2. use minimum force to bring the or while in police custody

situation under contro! quickly during l. cannot be used against the accused
any law and order problem. 2. . can be used if corroborated by other

Which of the statements given above is/ witnesses

are correct ? Which of the above statements is/are
(a) 1 onl ' correct ?
b) 2 only (2) 1 only

Y (b) 2 only

(c) Both 1 and 2

Both 1 and 2
(d) Neither 1 nor 2 (¢) Bo an

(d) Neither 1 nor 2
28 (Contd.)
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134.In case of an armed attack on the Post
the sentry should open fire :
(a) immediately after taking orders from
his superiors _
(b) only after informing Managing
Director of the Establishment
(c) after arrival of the local police
(d)

immediately to repulse the attack

135.

~ the term “Public Utility Service” is defined
in :

(a) Section 2(n)

(b) Section 2(0)
(c) Section 2(k)
(d) Section 2(j)

136. Under which one of the following Acts/
Codes, cases of bomb explosions are
registered ? :

(a) The Indian Explosives Act
(b) The Indian Penal Code

nder

137. An amount due from an emplx
vered

settlement or award can be re

following the procedyre\l@idydown in :
(a) Section 15 of th ent of Wages
Act
(b) Sectio of the Industrial
Disput t _
- (¢) Workmémw Compensation Act

(d)
138. The Industrial Disputes Act 1947 requires

Employees State Insurance Act

the appropriate government to direct the .

industrial establishment to constitute a
Work Committee if the establishment has
employed : |
(a) 10 or more workmen

(b) 50 or more workmen

(¢) 100 or more workmen

(d) 500 or more workmen

Under the Industrial Disputes Act, 1947,

(¢) The Explosives Substances ActO E
(d) The Criminal Procedure Codl

139. Which one of the following is mot an

authority for settlement and adjudication
of industrial disputes ?
(a) Works Committees
(b) Labour Court '
(c) Industrial Tribunal
(d) Trade Unions

140. Sedition is an offence defined under
Section :

(a) 124 A of IPC
(b) 153 A of IPC
(c) 141 of IPC

@ 121 of IQ |
141, Promoting enm tween different groups
of

on groun ligion, race, place of birth,
re ']::ce, anguage etc. and doing acts

af to maintenance of harmony is
¢ under Section :

a)" 354 of IPC
b) 153 A of IPC
{(c) 152 of IPC
(d) 121 of IPC

142. Which one of the following statements is
not correct ?

(a) During operations avoid going on a
lonely road, take a road which is more
frequented _

It is not necessary to always brief
and debrief after an operation
Analyse the entire operation after the
raid _

Force needs to be properly briefed
about what they have to do if they
are ambushed

(b)
(c)
(d)

143. “Wages” includes :

(a) dearness allowance

(b) bonus

(c) gratuity payable on the termination
of his service :
contribution paid by the employer to
any pension fund or provident fund

(D)
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144. “Industrial Dispute™ does not include any
dispute or difference between :
(a) government and employees
{b) employers and employees
(c) cmployers and workmen
(d) workmen and workmen
145. *A’ who is employed ih the capacity of a
-+ clerk in an office, removed an office file

and made it available to a private person
for a day or two. ‘A’ has :

(a) not committed any offence
(b) committed the offence of theft

(¢) committed the offence of criminal
breach of trust

(d) committed the offence of cheating

- - 146. Simple Mail Transfer Protocol (SMTP)
is used in : '

(a) file transfer through internet
{(b) browsing internet

" (c) using search engines
(d) e-mail communication

(a) history of a web page you Wi
(b) favourites \
(¢) address book IS

(d) file save

148. Retrieval of data from Internet and
communication through e-mail follow
certain rules called : '

(a) hyperlinks
(b) hypertext
(¢) mail attachments

(d) protocols

149. A web page is a :

(a) word document
(b) HTML docum ‘
(c) file made t editor

(d) wordpad deocument

150. A madem js a device which converts :
) og signal to digital signal only -

igital signal to analog signal and

vice versa ‘
. _ o ' .(c) digital signal to analog signal only
147.In e-mail communication, you can s
- frequently used e-mail IDs using :

(d) none of the above
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